3 |

| 1

NEW WORK INSTALLATION
WALL OPENING: 11" x 5-1/4"

SHOWN WITH ACCESSORY
LOW-VOLTAGE CONDUIT ENTRY BOX
(2 - #6-32 x 1/4" PAN HEAD SCREWS)

(2) STUD BRACKET (2 - #6-32 x
1/4" PAN HEAD SCREWS)

16" STUD CENTERS
STUD MOUNTING

HARDWARE BY
CUSTOMER
(#6 SCREW, &

1/2"x1" STAPLE, .

OR NAIL)

AC OUTLET BOX
(4 - #6-32 x 1/4" PAN
HEAD SCREWS)

PWB-100 &
BOX
= / STUD

(3) BLOCK-OFF PANEL
(2 - #6-32 x 1/4" PAN
HEAD SCREWS)

COVER CENTER
SECTION (2 - #6-32 x
1/2" UNDERCUT FLAT

//,
- MOUNTING HOLES

HEAD SCREWS) FOR 1/2" DRYWALL MOUNTING HOLES \[ 1 %HI g/Kglv\'lEvSASLL
COVER (4 PAINTED DIRECT-TO-STUD FOR 5/8" DRYWALL >
#6-32 x 3/4" OVAL MOUNTING HOLES
HEAD SCREWS)
OLD WORK INSTALLATION
AC OUTLET BOX o -
(4 #6:32 x 114" PAN WALL OPENING: 11" x 5-1/.
SHOWN WITH ACCESSORY HEAD SCREWS)

LOW-VOLTAGE CONDUIT ENTRY BOX
(2 - #6-32 x 1/4" PAN HEAD SCREWS)

WALL OPENING

/ENNNVARRARURRARRARNY

(3) BLOCK-OFF PANEL
(2 - #6-32 x 1/4" PAN
HEAD SCREWS)

(2) MADISON CLIP

COVER CENTER SECTION
(2 -#6-32 x 1/2" UNDERCUT
FLAT HEAD SCREWS) -~
)

ROTATE PWB-100
BOX INTO OPENING

(2) SURFACE MOUNTING
IN-STOP BRACKET
(3 - #6-32 x 1/4" UNDERCUT
FLAT HEAD SCREWS)
COVER (4 PAINTED
#6-32 x 3/4" OVAL

HEAD SCREWS) TME  pwB—100 NEW/OLD
i WORK INSTALLATION
E@En@n{%& FSR P/N: 16518/16519

W. PATERSON, NJ
;El.xfwa 785-4347 |DRAWN BY: JRE |DATE: 03/08 /07|REV: 02

973) 785-3518 Ty A—1768|PAGE: 1 OF 1 |SCAE: 1:5

3 | 2 | 1




